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,uz;lhk; jtizg; guPl;ir- 2018 

juk; 10 

  Gs;sp toq;Fk; jpl;lk; 

gFjp 1 

tpdh 
,y 

tpil 
,y 

tpdh 
,y 

tpil 
,y 

tpdh 
,y 

tpi
l 
,y 
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,y 

tpil 
,y 

01. 3 11. 3 21. 3 31. 4 

02. 4 12. 4 22. 4 32. 1 
03. 2 13. 2 23. 1 33. 3 
04. 4 14. 4 24. 2 34. 2 
05. 3 15. 3 25. 2 35. 1 
06. 3 16. 4 26. 4 36. 2 
07. 1 17. 3 27. 2 37. 3 
08. 3 18. 4 28. 4 38. 4 
09. 2 19. 4 29. 1 39. 1 
10 2 20. 2 30. 1 40. 3 

          ( xU rupahd tpilf;F 01 Gs;sp tPjk; 1×40 Gs;spfs;) 

gFjp 11 

tpdh ,y:- 01 

1) 1. Mf;fj;jpwd; 
2. Gj;JUthf;fk; 
3. #oy; kPjhd czu;T 
4. jd;dk;gpf;if 
5. Neuhd rpe;jid                 (4× 1/2 =02 Gs;spfs;)
  

2) gpur;rpidfisAk;> re;ju;g;gq;fisAk; ,dq;fz;L mtw;wpw;F jPu;thf Gjpa vz;zq;fis tpUj;jp 
nra;J nfhs;tjw;F my;yJ Gjpa topfis Njbf;nfhs;tjw;fhd jpwd;  

      (02 Gs;spfs;) 
3) m) ePbg;G 

M) tzpf Kaw;rpahsu;            (02 Gs;spfs;) 
4) czTj;Njit                (01 Gs;sp) 

khztu;fspd; tpilf;Nfw;g ,uz;L cjhuzq;fSf;F                 (01 Gs;sp) 
5) mUzpd; fy;tpawpT 

mUzpd; Mf;fG+u;tkhd Gj;JUthf;fr; rpe;jidfs;> Mw;wy;fs; 
rpwe;j Copau;fs;             (02 Gs;spfs;) 

6) efu;g;Gwj;jpy; gpugy ghlrhiy> mur mYtyfq;fSf;F mz;ikapy; fhzg;gly; 
     (02 Gs;spfs;) 

7) Copaiu Cf;fg;gLj;jy;> topfhl;Ljy;          (02 Gs;spfs;) 
8) khdplj; jpwd;   Kd;khjpupahf nraw;gLk; jpwd;  

vz;zf;fU uPjpahd jpwd;            (02 Gs;spfs;) 
9) ,aw;ifahd Kiwapy; moFgLj;jy; 

,aw;ifj; jhtu ,iyfshy; jahupf;fg;gl;l ngl;bfisf; nfhz;L czT nghjp nra;jy; 
czTw;gj;jpf;F clYf;F jPq;fpy;yhj %yg;nghUl;fisg; gad;gLj;jy;           (02 Gs;spfs;) 

10) khztu;fspd; tpilf;Nfw;g Gs;sp toq;fTk;                (02 Gs;spfs;) 
      (nkhj;jk; 2×10= 20 Gs;spfs;) 
 

ghl ,yf;fk; 63 Kaw;rpahz;ikf; fy;tp 
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tpdh ,y 02   

1) Mf;fj;jpwd;    Rje;jpuj; jd;ik  
Gj;JUthf;fk;   nefpOk; jd;ik 
el;l ,lu;fisg; nghWg;Ngw;wy;  mjp$ba Mir 
vjpu;fhy J}uNehf;F   #oy; kPjhd czu;T 
Neu; rpe;jid            (4× 1/2 =02 Gs;spfs;) 

2) epyk;   Kaw;rp 
ciog;G   Kaw;rpahz;ik               (4× 1/2 =02 Gs;spfs;) 

3) 1. ek;gpf;iffs;> kdg;ghq;Ffs; njhlu;gpy; cWjpahd ek;gpf;if itj;jy; 
2. xU gpur;rpidf;F xU jPu;T khj;jpuNk cs;sJ vd vz;Zjy; 
3. cldbg; ngWNgw;wpid vjpu;ghu;j;jy; 
4. epajpfs;> rk;gpujhaq;fis tpsf;fkpd;wpg; gpd;gw;Wjy; 
5. jtWfs;> tpku;rdq;fs; njhlu;gpy; fhzg;gLk; gPjp 
6. ju;f;fuPjpahd mbg;gilnahd;iw cUthf;fp nraw;glhjpUj;jy; 
7. eilKiwg;gLj;j jilfs; fhzg;glyhk; vd vz;Zjy;             (4× 1/2 =02 Gs;spfs;) 

4) 1. gy;ypdj; jd;ikia cUthf;fpf; nfhs;sy; 
2. Njhy;tpfisr; rfpj;Jf; nfhs;sy; 
3. Mu;tj;ij Cf;Ftpj;Jf; nfhs;sy; 
4. gpur;rpidfis rthyhf fhZjy; 
5. fy;tp> gapw;rpfisg; ngwy; 
6. Mf;fj;jpwid kjpj;jy; 
7. Mf;fj;jpwd; elj;ijfis gpd;gw;Wjy;          (4× 1/2 =02 Gs;spfs;) 

5) Gjpa fz;Lgpbg;G   gpd;gw;Wjy; 
ePbg;G    $l;L          (4× 1/2 =02 Gs;spfs;) 

               (nkhj;jk; 5×2= 10 Gs;spfs;) 

 

tpdh ,y 03 

1) kdpjd; jdJ tho;f;ifapid elhj;jpr; nry;tjw;F fl;lhakhf epiwT nra;J nfhs;s Ntz;ba 
tplaq;fs; Njitfs; vdg;gLk;. 

kdpjdJ Njitfis epiwT nra;J nfhs;Sk; gy;NtW Kiwfs; tpUg;gq;fs; vdg;gLk;. 
                   (02 Gs;spfs;) 

2) 1. tsg;gupkhw;wk; nra;jy; 
2. nfhLf;fy;> thq;fy;fs; njhlu;r;rpahf ,lk;ngwy; 
3. Nehf;fnkhd;W fhzg;gly; 
4. el;lmr;rk; fhzg;gly; 
5. tpiyapd; mbg;gilapy; nfhLf;fy; thq;fy; ,lk;ngwy; 
6. nghUshjhu eltbf;ifnahd;whf mikjy;         (4× 1/2 =02 Gs;spfs;) 
   

3)          nghUl;fs;        Nritfs; 
 njhl;Lzuyhk;      njhl;Lzu KbahJ 
 ngsjPf epiyg;ghL cz;L    ,y;iy 
 fsQ;rpag;gLj;jyhk;     KbahJ 
 Efu;Nthu; cw;gj;jpr; nraw;ghl;bw;Fj; Njit  Njitapy;iy 
 toq;FduplkpUe;J gpupf;f KbAk;    gpupf;f KbahJ 

       (02×1=02 Gs;spfs;) 

 

4) 1. nghUshjhur; nraw;ghLfspy; <Lgly; 
2. el;l ,lUf;F Kfk; nfhLj;jy; 
3. nfhLf;fy;> thq;fy;fspy; <Lgly; 
4. tsq;fisg; gad;gLj;jy; 
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5. Nghl;bf;F Kfk; nfhLj;jy; 
6. njhlu;e;J epiyj;jpUj;jy; njhlu;gpy; rpe;jpj;jy; 
7. Ra Cf;Ftpg;Gf; fhzg;gly;           (4× 1/2 =02 Gs;spfs;) 

5) 1. tzpf Kaw;rpahsu; 
2. r%f Kaw;rpahsu; 
3. cs;sf (epWtd)  Kaw;rpahsu;  

         (%d;Wk; Fwpg;gpl;lhy; 02 Gs;sp> 02 Fwpg;gpl;lhy; 01 Gs;sp) 

             (nkhj;jk; 5×2= 10 Gs;spfs;) 

 

tpdh ,y 04  
1) 1. jdpegu; xUtUila jiytpjpahdJ mtuplj;jpNy ,Ug;gJ 

2. gzpfspy; NtWgl;l jd;ikfs; cUthfpd;wik 
3. r%f eyd; nghUl;L gq;fspg;Gr; nra;af; fpilf;fpd;wik 
4. gad;gLj;jhj Mw;wy;fis gad;gLj;jpf;nfhs;syhk; 
5. ,yhgj;jpid cioj;jy; 
6. jd;dpiwT epiy  
7. Rje;jpuk; 
8. kpf cau;e;j Mj;k jpUg;jp           (4× 1/2 =02 Gs;spfs;) 

2) 1. njhopy;fisg; ngw;Wf; nfhLj;jy;  
2. tPLfis ,oe;jtu;fSf;F tPLfis mikj;Jf; nfhLj;jy; 
3. Fiwe;j tUkhdk; cs;s ghlrhiyg; gps;isfSf;F cjTjy; 
4. murhq;fj;jpd; eyd;Gup eltbf;iffSf;F cjTjy;  

      ( khztu;fspd; nghUj;jkhd tpilf;Nfw;g Gs;sp toq;fTk;       (02×1=02 Gs;spfs;) 
3) 1. Fiwthd %yjdk;  

2. Fiwthd Copau; 
3. tzpfk; jdpnahUtUf;F cupikahftpUj;jy; 
4. jPu;khdk; vLg;gJ ,yF 
5. rpwpa gpuNjrj;jy; tiuaWf;fg;gl;bUj;jy;               (4× 1/2 =02 Gs;spfs;) 
 

4) 1. ngUk;ghd;ik ntw;wpaile;j tzpfq;fspd; Muk;gk; rpw;wsT tzpfq;fshftpUj;jy; 
2. Kaw;rpahsUf;F Mf;fG+u;tkhd jpwd;fis gpuNahf uPjpahf ,yFthf gad;gLj;jf;  
  KbAkhdjhftpUj;jYk;> mjD}lhf Gj;jhf;fq;fs; cUthFjYk; 
3. re;ij ,ilntspfis ,dq;fz;L tzpf tha;g;GfSf;Fs; gpuNtrpf;f KbAkhftpUj;jy; 
 

5) 1. Fiwe;jsT %yjdj;ijf; nfhz;L tzpfj;ij Muk;gpf;f Kbjy; 
2. cs;ehl;Lj; njhopy;El;gq;fis gad;gLj;j Kbjy; 
3. #oy; khw;wq;fSf;F ,yFthf <LnfhLf;f Kbjy; 
4. mur Cf;Ftpg;Gf;fis ngw Kbjy; 
5. Copau;fis ,izj;jy;> gapw;rpaspj;jy; ,yF 
6. Copau;fspd; jpwd;fspy; cau;e;j gl;r ed;ikfis ngwKbjy;         (4× 1/2 =02 Gs;spfs;) 

          (nkhj;jk; 5×2= 10 Gs;spfs;) 
 
tpdh ,y 05 

1) 1. jpl;lkpl;Lr; nraw;gLj;jy; 
2. Njitahd MNyhridfs;> topfhl;ly;fis toq;Fjy; 
3. nfhLf;fy;> thq;fy;fis mwpf;ifg;gLj;jy; 
4. ntspr;#oy; khw;wq;fis ,dq;fhzy; 
5. jdpg;gl;l tho;tpid tzpfr; nraw;ghLfspy; ,Ue;J NtWgLj;jp itj;jpUj;jy; 
6. mur epWtdq;fspd; cjtpia ngwy;     
7. rpwe;j khdplj; njhlu;igg; Ngzy;                          (4× 1/2 =02 Gs;spfs;) 

2) 1. gy;NtW tsq;fis tzpfj;jpy; ,Ljy; 
2. jdJ Mw;wy; my;yJ jpwik Nghd;w kdj tsk;rhu; rf;jpfisg; gad;gLj;jy; 
3. ,yhgk; my;yJ el;lj;jpidg; nghWg;Ngw;Wf; nfhs;sy;                 (02×1=02 Gs;spfs;) 
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3) ngw;Wf;nfhz;l tsq;fis tzpfj;jpd; Nehf;fj;ij mile;Jnfhs;Sk; nghUl;L rpwg;ghfg; 
gad;gLj;Jjy;                   (02 Gs;spfs;) 

4) vjpu;fhyj;jpy; tzpfr; nraw;ghLfis ntw;wpfukhf;fp;f; nfhs;sj; Njitahd jPukhdq;fis vLj;jy;> 
mtw;iw NkYk; tpUj;jp nra;jy; kw;Wk; Njitahd cgha topKiwfisj; jPu;khdpj;J 
nray;gLj;jf; $ba Mw;wy;                       (02 Gs;spfs;) 

5) 1. cupa Neuj;jpy; Ntiyfspy; <Lgly; 
2. epahakhd Kiwapy; nraw;gly; 
3. tzpfk; el;lj;jpy; ,aq;Fk;NghJ kdk; jsuhJ tzpfj;ij Kd;Ndw;w ghLgly;  
                          (02 Gs;spfs;) 
         (nkhj;jk; 5×2= 10 Gs;spfs;)  

tpdh ,y 06                      

1) cupikahsu;   Copau; 
Kfhikahsu;  tsk;      (4× 1/2 =02 Gs;spfs;) 

2) 1. mwpT> Nju;r;rp nfhz;ltu;fs; fhzg;gly; 
2. Mf;fG+u;tkhd rpe;jid nfhz;ltu;fs; fhzg;gly; 

3. jpwik> ek;gpf;ifAs;stu;fs; fhzg;gly;      (02×1=02 Gs;spfs;) 
 

3) 1. ghuhl;Ljy; 
2. Cf;fg;gLj;jy; 
3. gapw;rpaspj;jy;         (02×1=02 Gs;spfs;) 

4) thbf;ifahsu;  Nghl;bahsu;fs; 
toq;Feu;   gjpyPl;Lg; nghUl;fis cw;gj;jp nra;J tpepNahfpg;Nghu; 
vjpu;fhyj;jpy; tzpfj;Jiwapy; gpuNtrpf;f vjpu;ghu;j;Js;Nshu;             (4× 1/2 =02 Gs;spfs;) 

5) a) mr;RWj;jy; 
b) tha;g;G 
c) mr;RWj;jy; 
d) tha;g;G              (4× 1/2 =02 Gs;spfs;)

         (nkhj;jk; 5×2= 10 Gs;spfs;) 

tpdh ,y 07 

1) 1. tzpfj;jpw;Fupa gyk;> gytPdq;fis mwpa Kbjy; 
2. tzpfr; re;ju;g;gq;fis ,dq;fhdy; 
3. rthy;fis ,dq;fhz KbAk; 
4. #oy; khw;wq;fSf;F nghUj;jkhd tifapy; cw;gj;jp> kw;Wk; tpw;gid eltbf;iffis 
  nfhs;sy; 
5. #oy; khw;wq;fSf;Nfw;g jpl;lq;fis tFj;jYk;> cgha khu;f;fq;fis jPu;khdpj;jYk; 
          (02×1=02 Gs;spfs;) 

2) a) gytPdk;   b) gyk; 
c) gyk;   d) gytPdk;     (4× 1/2 =02 Gs;spfs;) 

3) kf;fl; #oy; 
njhopy;El;gr; #oy;        (02×1=02 Gs;spfs;) 

4) tl;btPj khw;wk;   Nrkpg;G   epiwnjhopy; kl;lk; 
tpiykl;lq;fs;   KjyPL   ru;tNjrj; njhlu;Gfs; 
rk;gs kl;lk;   gztPf;fk; 
me;epa nryhthzp khw;wk;  tUkhdg; guk;gy;   (4× 1/2 =02 Gs;spfs;) 

5) khztu;fspd; nfhUj;jkhd tpilf;Nfw;g Gs;sp toq;fTk;   (02 Gs;spfs;) 

(nkhj;jk; 5×2= 10 Gs;spfs;) 


